
PACK P/M
1 Door Catch(M+F)(w/1/8inx15mm Screws) W797-28 R21320 Metal 2 G P
2 Door Hinge (w/7x12mm Screws) W797-28 R43249 Metal 4 G P
3 Frame Hinge (w/7x12mm Screws) W797-28 R55067 Metal 6 G P
4 Support Hinge(w/7x12mm Screws) W797-28 R18905 Metal 2 G P
5 Shelf Support (w/Pad)(Bronze) W797-28 R33273 Metal+Foam 12 G P
6 Knob (w/ 5/32x25mm Bolt) W797-28 R43250 Metal 2 G P
7 L Bracket (w/7x12mm Screws) W797-28 R09808 Metal 2 G P
8 Plate (w/7x12mm Screws) W797-28 R09809 Metal 2 G P
9 Leveler W797-28 83474 Plastic 2 G P
10 Top Panel (1267x506x40mm) W797-28 R43267 Wood 1 K M
11 Front Frame W797-28 R43268 Wood 1 K M
12 Right Side Panel (743x458x47mm) W797-28 R43269 Wood 1 K M
13 Left Side Panel (743x458x47mm) W797-28 R43270 Wood 1 K M
14 Door Frame (341x270x20mm) W797-28 R43271 Wood 2 K M
15 Door Glass(279x168x4mm) W797-28 R43272 Tempered Glass 2 A P
16 Glass Retainer Moulding/LF W797-28 R43273 Plastic 6 G P
17 Bottom Panel (1177x458x15mm) W797-28 R43274 Wood 1 K M
18 Back Panel (1190x630x5mm) W797-28 R43275 Wood 1 K M
19 Side Shelf  (324x425x35mm) W797-28 R43276 Wood 2 K M
20 Middle Shelf (482x425x35mm) W797-28 R43277 Wood 1 K M
21 Middle Panel (1177x437x15mm) W797-28 R43278 Wood 1 K M
22 Bottom Divider (390x437x15mm) W797-28 R43279 Wood 1 K M
23 Top Divider (212x257x15mm) W797-28 R43264 Wood 1 K M
24 Back Rail W797-28 R43280 Wood 1 F M
25 Center Support W797-28 R43266 Wood 1 K M

26 Tipping Restraint Pack W797-28 R15074

Mounting Bracket (2)
4mm x 5/8in screw (1)
4mm x 2in screw (1)

Plastic Tie (1)

1 G P

27 L Bracket #2 (w/7x12mm Screws) W797-28 R24795 Metal 2 G P
28 Plate #2 (w/7x12mm Screws) W797-28 R24796 Metal 2 G P

29 Hardware Pack W797-28 R43733

1/4inx45mm Bolt (4)                                            
1/4in x35mm Bolt (2)
1/4in Lock Washer (6)
1/4in Flat Washer (6)
4mm Allen Wrench (1)     

1 G P

REPLACEMENT PART DESCRIPTION FORM
MODEL #: W797-28

PART# DESCRIPTION USED ON: MRP# PRICE ¥ FOB $ MATERIAL QTY.
FACTORY USE ONLY!!

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. April 2021 Page 1 Of 2



REPLACEMENT PART DESCRIPTION FORM
MODEL #: W797-28

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. April 2021 Page 2 Of 2

15

2110 23 22
11

20 17 19
14

12

13

18

24

9 65

25 4
28

27

87 3

1 2

16
26

29


